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BT (RE/NEL4 5y, 3524 79)

FRT x IR 3mOe+ 1)+ 1=m (3—x)—=5x MR x Z0EL W) m EUE R

it [a,b,c,d]=ad —bc , WIAZERX]x,3,2,-5]>9 FIfEE

As shown in the figure, a cylinder ([#4:44) glass container contains a centimeter ink, with the lid on to
putit upside-down, the ink height is h centimeter, what is the volume of the ink in the bottles takes of the

volume of the glass container.

Do not consider the wall

thickness of the glass

bottle

TR EAAT B ay by o XN A B B s . AR AN S e b

a
Ola—b+p-q=|a—c]|: @abc<0; -1 0 1 "
@(@-b)b-clc—a)>0; @|a|<1-bc. Hri, EHLGRE___ A

x+9<5x+1

M2 x>2, Wom HBUETEEY

x>m+l1

Figure 1 is a small wood cube Horizontally (7K E) ,

figure 2 and figure 3 are the stacked figures by the same

wood cube, according to this pattern, what would be the total

Figure )
Figure | %

number of the wooden cubit of the the 7" figure.

IMCHEZEXER M —FRHKA
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10.

11.

4x-3y =
12. As it is known m is an integer, equation set { oy

13.

AL CRE/NEL 6 73, 3L 42 43)

H—MzHERE, JUffa@®@b=n(n WFEBON, Ha+1)®b=n—-1,a®b+1)=n+2 . WD

201392013=___

Me1=2, M4

FAREL a® N2 T8, a5 o 2 28N B o KI— AN 5e 4 Fr B

LRI 17 AMELLIEE A& 306, IS4, 'SHEAEIX 17 ANEUS S 17 AL N

15 4x—=3y—62=0, x+2)—7z=0(xyz7#0), mM@&ﬁ%ﬁﬁﬁﬂf? s
=2y
HURAI & KT, x=—1 4 mawxmﬂ“’“” 2X =Pk s,

)H\IJ a= ’ b=

has integer solutions, then how many
. ) 6x +my =26
solutions for m in the range of values.

i T “142+43+445+---+100 7 Fon 1 FFLAI) 100 ASEESE H AR ELFI R
T FIA 7 ieigK, BEWATE, AT RAEN, AT “1+2+3+4+5+---+100”

%%%jyfn K7 JERMAT S, B 1434547 +9+--+99, BRI 1 JFERE 100

50
DL FBELLZT BRI, PR Y Qn-Ds X +2°+3°+4°+5°+6° +7° +8° +9° +10°

R EL BRI R, TR B S )
HABREHAD

10
TR A i
n=l

1) 244+6+8+10+---+100 CHIM 2 FFEHHT 100 LLN 3%
FSRFFF &R R K

D WY D= SRR

n=1

IMCHEREXER WH—FELHKH



=, B (B/NB10+12+12 4y, 334 43

&
14, WE, W, PSS B MWIET T ABCD 9T, 4. CRNEENE 44— D
(KEATFHERE S, AR L 5 R RAT, 2 AU AL 5 R T, B2
(300 P FR R BE ) 4 435, U1 2013 VM AN T0 5 s 12 T
4
B C

15. Bfa +b+1| Ha-2) HAMREL HXT x TR 200+a)=3 (e—b)KIfEN m+2.

M4 IR S A A T 2] i)
D K a. by m BH;

v

-2 0 c 2

2) FHEE LA CHMEMEFTR, S CERKE ¢ i§1£ﬁ|a—b+c|—|m+a—c|+|b—c—m|:

16. TV a+bte=0, @+b*+c*=4, K a*+b*+c* [FIME;
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IMCHEREXER WH—FELHKH

¥ 3%

I 3%



o)

EREPS)

A CHEET

SFAEIRR HL S

A

/{RE

- 37 - -

e RS

1.

N

W

(9]

o

2013 EhiE "IMCEAR#FRE" (FEEK

Ninth IMC International Mathematics Contest(China
M —F R E

X BT E: 904 & EHEEES: 100 B4

INGG

HLVIN

£%F)
),2013

BSEZFLEBERAAERBEEEEARA, HERAFRY: RUEHNEERTEMRER!
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EE; 1 2 3 4 5 6
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HA T (/J\ﬁ:'bj 47y, ;j\:24 ﬁj\)

B xy y TR +J1-y =4x -4, PB4 x2+y2=_ o

1EPATWUIAIE ABCD W, AD=5, AB=3, AE-V-%y4ZBAD % BCiAT R E, WA EC=__

NIRRT AT S N ECEA L ST, FEP AR Bl 5 0 KRB AR 2 E KR B 2

CAIX S NG A B 4, PN 3.8, IBAIX 5N BAK I RSN
CMGHE N 5 ol H0

The sum of the rest (}:43/f]) angles of a convex polygon (4% 147E)

angle, then, this interiorangle is ;

R A0+ 43 -2V2=

W, 4. B. Cv D 32— MERMNUATLN, HA AD=12. % 4B=5;

is 2750° except one interior

R R B AL B O D WIRMIMMG R QLS P 0 1D

YRR R AR A B AL TR AR A 120°) 5 IS A W 238 R AR K S

HUEHE L CRE/MEL6 47, 3£ 424))

IMCHERXEE M1 ZFRKA

10.

11

12.

13.

CANBEA = AIEAPIZL K0 1. 2, A =T KE x FIETEEY

WK av b ¢ WL (a-b)(b—c)c—a)=1, W22
(b—a)(2012—¢)(2013—c)+(c—b)(2012-a)(2013—a)+(a—c)(2012-b)(2013-b) [ K

fEAAEF is the inscribed regular triangle (W4Z1E—=ffJE) ofrthombus ABCD, point E and F on the

side of BC and CD respectively, and AB=AE,then / B=

WA, B, C. D RWIEPFE FIGER 445, 10Vl 1 E R — 44 Bk )
BN AL By C. DI IERLY (R&ITRL) (LEIAER [ :
ANBEEIIRTE L) L R0 17 M JF IR TI 4 30,

ke, SAEEIT 4. B. C. D ARV A < (. AR,
I BCAD) | 5 AT SUBF R U R ARE B r @ B R R — 4 “20ii”

ANETTFE X + 6xy+ 8y +3x +6y =2 (T E AR (. y)=

FETTH LA A b, UL B 00 B B BLER — A ), BB AB BRI A x|+ 21

MR N_

In isosceles trapezoid  (Z5JEALE) ABCD, upper bottom AD=6, lower bottom BC=10, M is the midpoint of

isosceles AB, and MD 1 CD, then the area of isosceles trapezoid ABCD is ;

AR (RS 10412412 43, 3L 34 49

WE, AABC. A ABC X T B 1 nFR, CAITEF N A

Al REA B e 5P B AR RSN A S AR E S . B A4BC

SENVRA TN Z LT, XA N2 1A A AT TiE C C
SR AR, RS TP AABCS, B K AR M v ,

IMCHERXER MR _EHKHT



15, CHAERE=MIBA — & m e A —2F, SRIZANMERE= MR T R CSHR T AT RERIED

16. HEATHN N R L WA Wk TFARI B A A LR f0=2"+x, fA(x)=2x, BRI
MR B 2 I A CRTRUAHIRD » XEHEATINGA . i sfias 5, R a4 R n 21
BACE, WAL 4 A2 I n] DA A FROD AR 2, WREEAT, AR S a5k,

ANTTCLRI BB B 1) 6x™=3x 2) 4x*-3x 3) 4x’+x 4) 25—x?
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7.

WA T (R/NB 4 4, 3224 50)

ROME: 6 +x"—dx+ 1=

The sum of the rest angle of a convex polygon (72 i1JF) 1is2750° except one interior angle, then,

this interior angle is ;

FET IR A ARRR AR L, USRO[5l Ca 0 A [2] PY BEALIRC— A s (x5 y)» ABALERTARDRIH

|x| + |y| >1MMEER

E.F 5 AE~ VAT WIA e ABCD Wil CD AD I, Wi/BELCD, BF14D, CE=2, DF=1, /EBF=60°,

ML PAT YL ABCD IR

fENABC W, AB=3, AC=4, BC=5, [iE. F/ 54l AB. AC I., EF//BC H. EF *V-4r AABC I

N, IAEF=
e, 4. B C. D & PNHIBHNAN L, HAC AD=12. % AB=5; Aymmmmmmmmnmne .
BIth 2 I REE 4. By Cv D BRI M 4e (AR §> /QED
P O WAk TR AR 2 BRI sk AL 12000 5 IR o 2% it BZ -------------- x'C
RERKE=_
HorE W (R 6 7, 3L 42 7))
5x* +8x+5

PREL y === IE= PNV » M x= A 5 KA

IMCHEEXEHE WP =FRIKM

W A1 02012 oo o Jx=a)y-a) (x-b)(y-b) (x-c)y-c),
8. B x=20127"".y=2013""".a=1.b=2.c=3 A\ b—aXc—a) + —bXa—B) + e—elb—0)

HREATSRAE, B AR 4E RN

9. ML {11420 -V5)(1-7) =

10. HHE X +1—x=3x -2 [T 8N =

11 CEIB A E DY L TE USR5y 54 7, IBAXADULTE A N

12. Pisany point of the Equilateral triangle ABC with side length is 1, and 1=PA+PB+PC=PA+PB+PC,

then the values range of I s to be ;

13, fgrm i L o L i . Aoy
x y 2013

=, A& (/3 10+12+12 4y, 34 )

I’ 2
14, RENA “) — [+ +
A {2013} [2013}

i

3
{%} DL 2013 [RBUR L D (HERLE0. 1. 2. e

2012 FPIEATIRIO P x ] WBCERE, FoR MBI x ORI

15. ZEBFAABC T, BD. CE M5, HAADE Wi EAABC a@mﬁm%, K24 RS

16. B4 f(x) AR —kEZmA, HiL f(2013)=,2015)=a, f(1)=f(3)=2013a, i a2 F#
., K a 5/ o] REAE

IMCHEZRXEE MHh=FRKA
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